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10/24/2011 MATH261 Calculus I Name: §gl U " 10N

Dr. Lunsford Quiz 7 (60 Points Total)

I. Find the indicated derivatives. Neatly show all work, simplify your answers, and clearly indicate your
answer. (8 points each, 32 points total)
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Pledge:

I1. Starting from re object moves vertxcally M L[ \

with height given by the function \ T

h(t) = 60t> — 41> where his in feet and is in

seconds. To your right you are given a graph of
the height of the object. Please answer the v
questions below. You must show all work for ") /. , | \
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3. What is the maximum helght achieved by the object? (5 points)

— 940 ¢ /<

hilE)= 120" J2¢* ok dmal K= 6
//i)‘— O ) $= )05, < 4 ric W)'\Th /M/% n;?éh
J20 k=12 = W) = b0 l16) -400)”
—L )= O JALAS
4. Durirlng}wfatgm/eso is the£ob?ect accelerating? (5 points) Z ’2 000 #
i
L) = 120 2t sn (W/Jl

e " (0,6,(%:5)

) + -
= [:7 g So 0))/,(7[ 14 A//f/r‘/d//fy B
5

}’}H/ﬁ): 0 = /,7”"‘71423:' O S-;j”

III. Find the indicated derivative. DO NOT SIMPLIFY your answer (10 points).
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